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7?;@-75 & ORI (18 #I(List) ~ (2)A $(Tuple) ~ 3)F & (Dict) ~ (4)# & (Set)

FEFTHA S o
(1) * 3% SRS - B L4 (ThREE )
(2) P II}?’: E’g—ﬁ\”;}‘__g‘] V_JJE‘ - ll—js |$ m% ’ p 4- 'B %—‘7 iV {1‘ PE'F’?"*‘}"‘“']@ o
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- ~ B #|(List)

1. - &g 5
(1) P BE[Gx~F  ERAFOTRAULT UApR 2 T ﬁ-" e FanEiE Lol
a=1[1.2,3,4,5] #ag 7)o Ault 12345 Ak > ® kLK
b=["#%""4 E""# "] #b e 7 A REVAESR IO E 2R SFE
c=[100,"% ¥ nTme] #e# 7> A ulF 1004 E"True v~ % > ¥ 57 7RI &
d=1] #dg# o 2 o
e = [0]*4 Be B 7] A B|FER 0,0,0,0 haE o
f=[""]*4 #Ee 7 ALFERE BTFR hLFE o
g = [i for i in range(1,6)] #ge s ABlG 12345 %% o

2) ﬁ_ BEIAFE 2B W B 23 Ed OBy HiZi2 5
_[" _g:" n E” ”*%_;_"]

print(b[0]) #31%,1 HT %

print(b[2]) #31%,1 1&% 3

print(b[3]) #ﬁii‘ s 23l i’i@% i3
printb[1]) N (A - B)

print(b[-3]) #ﬁa?l N (BEEy =)
print(b[-4]) HAZ B TR0 & 3] EATE 5
print(b[1:3]) A A BRI 2R R AT AE

@) al-wBsIARp > 35825 @ R3Ed ORL > B 5 0 (g wtse 5
b=["#%""4 K", "+ "]
b[1]=""" ‘”_’%"
print(b) GoEINE R RS (A

(4) "_ me A FpE del#ﬁé‘ C H3FE G
- [H“""‘a: " Hé o H H*ﬁ_:j_ "]
delb[l]
print(b) ORI R N S
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FP/z o

a=1[[1,2,3],[4,5,6] ] #a i 2*¥3 chz e 7)o &~ W [1,2,3],[4,5,6]07 F o

b=1[1] #b hgehz me A e
c=[["]*5 foriinrange(4)] #c &= 4*5¢h= e 7] ~
d=[[0]*5 foriinrange(4)] #d 5 4*5eh- g 7] =~

BB AIAG o FEEAS T R ES 0FA o HEk L
a=/[["joe","1234"], ["mary","abcd"], ["david","5678"] ]

print(a[1]) #is; 1 ["mary","abed"]

print(a[1][1]) g ) abed

print(a[1][0:2]) #ﬁa? '["mary","abcd"]

E_-g@g;.;u 325 R B 23D OB HEi2 5L i (

a=1[["joe","1234"], ["mary","abcd"], ["david","5678"] ]

a[0] = "kkbox"

a[1][0]="john"

print(a) ﬁg?] ['kkbox', ['john', 'abced'], ['david', '5678']]

IR s IR AR R deldnd o HiE S
a=[["joe","1234"], ["mary","abcd"], ["david","5678"] ]
del a[1]
print(a)
del a[0][1]
print(a) 5] [[joe'], ['david', '5678']

L [[oe!, '1234', ['david!, '5678']
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F 5«: 1 % o) %

2,4,6] +[8,10,12] | [2,4,6,8,10,12]

[
[2,4,6] * 3 [2,4,6,2,4,6,2,4,6]
[2,4,6] > [2,3,8] True

== [2,4,6] ==[2,3,8] False

in 2 in [2,4,6] True

not in 2 not in [2,4,6] False

Wig 2 g E )
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4, F* en

R i ¥ b 0 % H s
a=["C","A","B"]
append() | ##7 %% 4Tk 4 o | a.append("D") ['C","A","B","D"] | Mz B A Az A
print(a)
=["C","A","B"
insert() %> ff 3 2l i :inieft(’l "D:') | ["C","D","A","B"] | g **ze 5/ 2xze -
F 3 Bl o : ’ I
print(a)
#'7 :fﬁ 2 % 5l YBh | a=["C""A","B"]
pop() | ~% %Lp LRIFIE | apop(l) ["C","B"]
B (s - print(a)
a=["C","A","B"]
remove() | # “f pEARE- a.remove("C") ["A","B"]
print(a)
count() | 3-& IR e : ["CIAL B 1
print(a.count("C"))
, 2= [MCLIALTDY A8 AT AR L -
sort() | B FEFRHEER o | asort() ["A","B","C"] LA severse=True)
print(a)
a=["C","A","B"]
reverse() | ¥ &~ Z "R o a.reverse() ["B","A","C"]
print(a)
index() |#F ~ %2R il - af [”Ci""A"’”B”] 1 MEH I RS EF L 4T
print(a.index("A"))

4wy # b ol | Hump
s =1[10,20,30
sum() | B RA : , [ : 60
print(sum(a))
=1[10,20,30
max() | B AP gt @ | ¢ : 30
print(max(a))
=1[10,20,30
min() | Bw ¢ 7|¢ k] & : . [ . : 10
print(min(a))
=1[10,20,30
len() | @w ¢ 7l hnt ple | L | 3
print(len(a))
a=1[30,20,10]
XRe ;qmggi 3T o
EEAE N B fHE R o =
sorted() % i {7 L P b = sorted(a) [10,20,30] S 42 4 sorted(a.reverse=True)
print(b)
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L3 F 4 % Hh

= ~ B ¥ (Tuple)

1. B ¥ (Tuple)?? 8 5|(List)si A 802 » £ %] 43 ¢
(1) AP REFEQFRAF -

2 ~%- s T UEdfel] At dhidatas

LR a7 2 BB E IR )

2% o b4 ¢ append() ~ insert() ~ pop() ~ remove() ~ sort() ~ reverse() E ¥ & F # * o

a=(1,2,3.4,5) Ha Bt AuF 1234552% > ¥ % 5 Kk
b= ((1,2),(4,5),(7.8)) Bb B L3 s BmAY
c=0 #e B%to R AS

= ~ F & (Dict)

1. F&
(1) FLUARRLGFRAF 5 BAF LI - 3 Ti(key): ~ % H(value),
RoHEERRE Az aes anra i

a={"id":1081416, "name":"¥ # A"} #a 3L > &£+ id~ name -

b={} #HbF & > FFE o
2 P-wxs s gEEE 2w
print(a["id"]) #3521 1081416

print(a["name"])  #y 1 § ik &

a["id"] — 1081401
print(a) #8541 {'id: 1081401, 'name’: '¥ i &'}

4) [igzs 2gm, @r deldpd > H525

del a["id"]
print(a) # 1 {'name": "% i '}

2. ¥ veERS

EES | ol ] 5 %
I= a["id"] = 1081401 True
= a["id"] == 1081401 False
in "id" in a True

notin | "id" notina False

BEm o FaE

v
Ik
-M\
=



Python 3.x CH7 % % 73] % 2HRBF Wip T KE

3. ¥

S [ # o1 s
— "name":" fé—_éé ","City”:" ‘;; 7',L "}
clear() | 3 F& ° a.clear() s
print(a)
a j— {"name" N I}i— h1 "Clty" n ‘_:' 7',L "}
copy() | #HHFL - b = a.copy() "name":" i & ", "city™:" 5 A"}
print(b)
a= "name" M3 (1] "c1t n.n 4 _I,L, n
P73 Lkey { = e )
get) | _ 3 b = a.get("name") i
TeoR R e .
print(b)
a= "name" N I}i- (1] "c1t n.n 4 _I,L n
%% K% #F] i key m { y : } n n.n 4 n
pop) | 14 a.pop("name") {roity":" i #}
~FE e .
print(a)
a= {"name" N I}i- (1] "c1ty" .n ‘; 7|,L "}
. ’ b {"name" " L ;': " Hld" 1} . 3 ]
update() | & & F &L o {'name": '’z 7', 'city": ' & 4", "'id": 1}
a.update(b)
print(a)
a= "name" n I}i— (1] "c1t n.n 4 _',L "
items() | B4EEE A F B { v } dict_items([('name’', ' &"), (‘city', ' & #")])
N print(a.items())
keys() | P-étiE _ dict_keys(['name', 'city'])
B print(a.keys()) , ek i 1 s
values() | B>~ % & . dict values(["#E &', ' & #*'])
print(a.values())
4. ¥ enddk
<% | wp # b1 i o)
a — Hname":H ]’é’— 8 "’"Cit H:" s ‘}L "
len() | &wF L P rkey:value tedk . yute 2
print(len(a))
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z ~ & & (Set)

1. & (Set)#? 3 & (Dict) 4 501 » £ %] &3t

(1) HEEppr Egmg— o
(2) %3 ~% iE(value) > X7 4EE(key) °

a: {152)354)5} #a % g ’ Aq\ Eﬂ'JJﬁ 1,2,3,4’5 F-_.’i”;b—,% ) _‘::' lvéb ;‘% fg&
b = set() #b gLt 8L

2. 4@ gy
i

Fh S (Set) Pl | S

mE(]) alb |{1,2,3,4,5,6,8,10}
LE(&) |a={1,234,5) a&b | {2,4}

Z8(-) |b=1{2464,10} a-b | {1,3,5}

3% (N) a’b |{1,3,5,6,8, 10}

3. Frent i

EET # 6 6 5% %
a=1{1,2,34,5}
add() | #7H = % a.add(6) (1,2,3,4,5,6)
print(a)
a={1,2,34,5}
remove() | # ",% I a.remove(3) {1,2,4,5}
print(a)

a= {12,345
b= {2,4,6,8,10}

update() | EH & & a.update(b) {1,2,3,4,5,6,8, 10}
print(a)
a=1{1,2,34,5}

clear() | F7Z# 6 ° a.clear() set{}
print(a)

T~ Ry BN

list() : s 4|85 2 S F AL -
tuple() © 5% # |93 5 R EFTAAE -
set() - IR A FEFTAAL -

dict(zip(key # 7|, value 8 31)) @ 3 $|dk# 3 F &

R
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bt
=




